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41- Which sentence is grammatically CORRECT? 
1) Why is the man over there looking at us? 2) Tom says he is 40, but nobody is believing him. 
3) I am thinking this is your pen, am I right? 4) This food is great. It’s tasting really good. 

42- Iran is a four-season country, and tourists can find a(n) … of activities from skiing to desert touring in different 
parts of the country. 
1) way 2) value 3) range 4) hint 

43- A: What do you do for … on weekends?  
B: I often stay at home and watch TV shows and movies. 
1) continent 2) destination 3) entertainment 4) attraction 

44- I have seen many high buildings, but this is the highest one … in this part of the city. 
1) stated 2) suggested 3) activated 4) located 

45- The doctor did everything to make sure that his patient would … his orders carefully to get better as soon as possible. 
1) follow 2) express 3) compare 4) plan 

46- A more … explanation for these injuries was that they were caused by a car crash. 
1) domestic  2) hospitable  3) progressive  4) probable 

 
The biggest tomato fight you will ever see happens every year on the last Wednesday of August in Bunol 

near Valencia, Spain. Since 1945, La Tomatina participants have traditionally been throwing tomatoes at 
each other purely for entertainment purposes.  

History suggests that the event started by accident – by youngsters attending the Gigantes y Cabezudos 
festival with enormous figures with big heads. They grabbed some tomatoes from a nearby stall and threw 
them at one of the giant figures who accidentally fell down.  

The next year, these same young people came back with their own tomatoes and started a tomato fight. 
Today, La Tomatina is so popular that tomatoes are delivered in big trucks for thousands of people from all 
over the world.  

47- The passage is mainly about … . 
1) the trucks carrying tomatoes from the farms 
2) a festival held in Spain with tomatoes 
3) the youngsters fighting each other with tomatoes 
4) the last Wednesday of the August in Spain 

48- Which of the followings can best match with the meaning of “La Tomatina” in the last paragraph? 
1) enormous figures with big heads 2) the big trucks with tomatoes 
3) people from all over the world  4) a fight with tomatoes  

49- The underlined pronoun “them” in the last line of paragraph 2 refers to … . 
1) tomatoes 2) the youngsters 3) enomous figures 4) big heads 

50- Which of the followings is NOT mentioned in the passage? 
1) In Spain, people used to fight each other by tomatoes. 2) Tomatoes fight goes back to the previous century.   
3) La Tomatina is traditionally held in Spain. 4) La Tomatina is created by some young people. 
 

 

)  1( 

PART A: Grammar and Vocabulary 
Directions: Questions 41-46 are incomplete sentences. Beneath each sentence, you will see four words or phrases marked 
(1), (2), (3) and (4). Choose the one word or phrase that best completes the sentence. Then mark the correct choice on 
your answer sheet. 

PART B: Reading Comprehension 
Directions: Read the following passage and decide which choice (1), (2), (3) or (4) best fits each space. Then mark the 
correct choice on your answer sheet. 
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